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10.

11.

70% of ? + ; of 133 = 202

(A) 210 (B) 345
(C) 180 (D) None of these
15x7+5
2445
(A) 4 (B) 2
©1 (D) 7
479%x 16 -189%x32="?
(A) 1666 (B) 1686
(C) 1606 (D) 1616
15x 34289 — 910+ 26 = ?
(A) 737 (B) 685
(C) 730 (D) None of these
V22201 =7
(A) 159 (B) 189
(C) 149 (D) 139
140% of 125 + % of 85=7
(A) 226 (B) 216
(C) 196 (D) 212
3ot 8 of 2 or2=216
7 15 25
(A) 810 (B) 864
(C) 1350 (D) None of these
123x Zix5i =7
3 19 15
3 3
A — B =
(A) 655 (B) 112
© 131% (D) None of these

55% of a number is more than one third of that

number by 52. What is % of that number:

(A) 96
(C) 144

(B) 240
(D) None of these

In a class of 52 students, the number of boys is two
less than the number of girls. Average weight of the
boys is 42 kgs, while the average weight of all the 52
students is 40 kg. What is the average weight of the
girls:

(A) 41kg
(C) 38kg

(B) 42kg
(D) None of these

Find LCM of E,E,i and —:
257 12

(A) 90

(B) 80

(C) 60

(D) None of these

10.

11.

? & 70% + 133 F §:202

(A) 210 (B) 345
(C) 180 (D) & § Fig T
15x7+5 _5
2%+5
(A 4 (B) 2
© 1 (D) 7
479%x 16 —189x32=7
(A) 1666 (B) 1686
(C) 1606 (D) 1616
15% 34289 — 910 +26 = ?
(A) 737 (B) 685
(C) 730 (D) & q g T&
V22201 ="
(A) 159 (B) 189
(C) 149 (D) 139

125 % 140% + 85 §= ?

(A) 226 (B) 216
(C) 196 (D) 212
g B 6 5=
P o W WS =216
(A) 810 (B) 864
(C) 1350 (D) &% & P &
123x2ix5i=?
3 19 15
3 3
() 65—~ (B) 112>
(©) 131% (D) 58 q g -

fhell G W 55% SH YE B U foEE 9 52 Sum 81 a
WWH%W%:

(A) 96 (B) 240
(C) 144 (D) 378 T g T

52 FEniiat @ U wE A e W Hen aeieal B Gen
A FH B TSH F Ed R 42 fhemm ® i @9 52
ﬁm@ﬁw@wmmﬁ@m%lmwmw
T &:

(A) 41 franm
(C) 38 franm

(B) 42 freium
(D) T & F§ T8

%%;qa = T T TS T A

(A) 90
(B) 80
(C) 60

(D) =7 & F &
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Find HCF of 3444 and 3556:

(A) 38 (B) 28
C) 24 (D) None of these
Which one of the following fraction is largest:
5 9
A 5 ®) 5
3 4
© 3 O 5

Which one the following fraction is the smallest:

113 114
w = ® =

13 9
© o ©) o

A number consists of three digits. The middle figure is
the sum of the other two. The first figure is equal to
the square of the third. The number is:

(A) 121 (B) 442

(C) 993 (D) None of these

In an examination a student scores 1 mark for each
correct answer and 0.25 marks are deducted for each
wrong answers. If he attempts all 120 questions and
secures 90 marks, the number of questions he
attempts correctly is:

(A) 100
(C) 96

(B) 106
(D) None of these

Ten years ago the fathers age was 10 times the sons
age. 20 years from now the ratio of the ages will be
35:17. What is the son’s age today:

(A) 14 years (B) 34 years

(C) 24 years (D) 12 years

Five boys A B C D E have heights successively
decreasing by 1" from tallest to the shortest. The sum
of their heights is 300 inches. What is the height of the
shortest boy (in inches):
(A) 70
(C) 55

(B) 60
(D) 58

Seventy five percent of a work can be finished by 12
men in 14 days. How many additional men are
required to finish the balance in 2 days:

(A) 12 (B) 16

(©) 20 (D) 18

If 40 bottles of water are required for 9 men for 2 days.
Then how many bottles are required for 4 men for 9
days:

(A) 40
(C) 80

(B) 50
(D) 72

If one side and one diagonal of a rhombus are 5 cm
and 8 cm respectively, then its area (in sz) is:

(A) 22 (B) 20

C) 24 (D) 25

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

3444 U4 3556 H WeWH GHYGGP TG B

(A) 38 (B) 28
(C) 24 (D) =T | B &
-0 T 99 g9
5 9
A = ® —
3 4
© = © =
- Py T O &
W =2 ® =2
13 9
© = 0 o

T gem § §F ofF T = awl de gEr ant @ an B
7o 3 AR B T & TE) 2 98 HE A &

(A) 121 (B) 442
(C) 993 (D) & § Hig T

% e ¥ o et @ o 3 fg 1 o wm ®
0.25 3% F FAAN T S D [T A SR B AR q@
120 ¥ 1 SO a1 & R 90 ofF UKm ® A S
e Tt & SOX 9E R

(A) 100
(C) 96

A4 %

(B) 106

(D) 318 & FF Tt

10 a9 qd Rar At 39 9 & SH W & T o oW 4 20
ﬁ%ﬁﬁmwzﬂaﬂqﬁ@m%:lﬂgﬂﬁ%%@ﬁ
I B

(A) 14 99 (B) 34 a¥

(C) 24 a9 (D) 12 a8

i @ A, B, C, D, E @l a= waies @ & qaitee
B % % ¥ 1" o gt @ B I @R # A 300
&9 3 waie B e ¥ s a7 & (39 H):

(A) 70 (B) 60
(C) 55 (D) 58

TH FE B 75% WA RE AfRedl & 14 K F gt B
o B A W EE W@ AR A O FA A R oo
FRBAT Bl SR BRM:

(A) 12
(©) 20 (D) 18
IR} 40 G U B AGEHRAT 9 JRAEE B @ F A H=;

9
%ﬁgﬁﬁ%m4aﬁﬁﬁ€ﬁﬁﬁ%aﬁaﬁfqﬁw¢w

(B) 16

(A) 40 (B) 50
(C) 80 (D) 72

IR IGYS A TH N G TF e A 5 T 8 A, g,
ar So S (w2 H) ®:

(A) 22 (B) 20

(C) 24 (D) 25
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22.

23.

24.

25.

26.

27.

28.

29.

30.

A moneylender finds that due to fall in the rate of

interest from 8% to 7%%, his yearly income

diminishes by * 61.50. His capital (in ) is:

(A) 24600 (B) 22400
(C) 23400 (D) 24000

A man invests a part of ' 10,000 at 5% and the
remainder at 6%. The 5% investment yields annually *
76.50 more than the 6% investment. The amount
invested at 6% is:

(A) 3600
(C) 3500

(B) 3850
(D) None of these

One acute angle of a right angled triangle is double
the other. If the length of its hypotenuse is 10 cm, then
its area is:

75 2
(A) — ¢m

© 2Jsem’

(B) 25 cm’

(D) None of these

Which of the following is the rate percent per annum
which would give difference in amount of interest
equal to * 20 for * 1200 in 3 years and for ' 800 in 4
years?
(A) 25
(©) 5

| 3
(D) None of these

If the numerator of a fraction is increased by 200% and
the denominator is increased by 300%, the resultant

fraction is % . What was the original fraction?

5 7
A ®)
8 8
© ©)

A sum of money invested at compound interest
amounts in 3 years to ‘800 and in 4 years to '840.
What is the percentage rate of interest?

(A) 4% (B) 5%

(C) 6% (D) 3%

A horse and a cow were sold for '12,000 each. The
horse was sold at a loss of 20% and the cow at a gain
of 20%. The entire transaction resulted in:

(A) Loss of * 1000 (B) Gain of * 1000

(C) No loss or gain (D) Gain of * 2000

If a boy takes as much time in running 20 metres as a
car takes in covering 50 metres, the distance covered
by the boy during the time the car covers 1 km, is:

(A) 400 metres (B) 200 metres
(C) 40 metres (D) 20 metres

In a throw of two dice, the probability of getting a sum
of 9or 1lis:
(A) 2/9
(C) 59

B) 7/9
(D) None of these

22.

23.

24.

25.

26.

27.

28.

29.

30.

% FORE I8 Ul & fF e & 8% q 7%% Y &

%sﬁw,mmﬁmm‘el.sowaﬁ%lmivﬁ(‘ﬁ)

(A) 24600
(C) 23400

©F ARG 10,000 H TH BEM 5% H A& W F@AT H@r
? @ @I 6% T 5% a9 W T M 76.50 @I &
6% TR & W Al 6% W FRAT A T AR e 2

(B) 22400
(D) 24000

(A) 3600 (B) 3850

(C) 3500 (D) & q g T&

T TR B & AR T B G 81 AR 36 At
H T 10 FH. ¥ A T SEHA @

(A) ?cm2 (B) 25 cm?

(C)2—2530m2 (D) 5T & HF et

Frfefaa & § -1 & i foed & S 5 3 af F
1200 W TE 4 99 & ° 800 W " 20 & ST & A &l
X 3P
(A) 2.5
©) 5

(B) 3

(D) 39 & F§ Tl

R & B W ST 200% T A AT ® wd & 300%
wﬁmw%,eﬁq&w:ﬁm% am Ak B
qr?

A = ® -

© - ©®

T @ S RS 99 W 3 T 3 e R @ w
% 800 & Rl B wd 4 a¥ ¥ 8401 oW H W W AR
4 7

(A) 4% (B) 5%

(€) 6% (D) 3%

TH 991 W T M9 SA% 12,000 ¥ S A T A R

20% B @ ME B 20% WA W F TN TLF AR D
RO EEY get:

(A) 1000 I =+ (B) '1000 I @

(C) #E =W a1 @9 & (D) '2000 F T

IR ©p qgH 20 MexX P F I & g Aar @ B
T% HR 50 MR H g T A & @ &) a7 1 fol A
0 T B D NN ToD &0 a9 B W g0 R S
(A) 400 T (B) 200 Hiex

(C) 40 HeX (D) 20 HeX

A G W @ BE T HH H AT O AT 11 HW B
wiReR 2Rl
(A) 2/9
() 5/9

(B) 7/9

(D) 318 & F§ el
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

If the radius of a circle is increased by 20% then how
much will its area be increased by?

(A) 40% (B) 44%

(C) 50% (D) None of these

When 50 is subtracted from 50% of a number, result is
50. The number is:
(A) 150
(C) 200

(B) 400
(D) 300

A bus consumes 25 litres of diesel in covering a
distance of 90 kilometres. How much diesel is needed
to cover 288 kilometres?

(A) 70 litres
(C) 80 litres

(B) 78 litres
(D) None of these

A compact disc player when sold for "13,600 incurred
a loss of 15 percent. At what price should it have been
sold to make a profit of 35 percent on the cost?

(A) 21,600 (B) "20,400

(C) "19,600 (D) None of these

In 4 years, ‘6000 amounts to '8,000. In what time at the
same rate will ‘525 amount to ‘700?

(A) 5years
(C) 4years

(B) 3years
(D) None of these

A lawn is in the form of a rectangle having its sides in
the ratio 2:3. The area of the lawn is 600 sq. metres.
Find the length of the lawn?

(A) 20m (B) 30m

(C) 25m (D) None of these

The breadth of a rectangular plot is decreased by 20
per cent. By what percent should the length be
increased to keep the area same?

(A) 25 (B) 20

(C) 30 (D) None of these

The C.P. of two shirts taken together is '840. If by
selling one at a profit of 16% and the other at a loss of
12%, there is no loss or gain in the whole transaction,
then the C.P. of the two shirts are respectively:

(A) 360, 480 (B) 480, 360

(C) '380, ‘460 (D) None of these

The average weight of 29 students is 40 kg. If the
weight of teacher be included, the average weight is
increased by 300 gms. The weight of the teacher is:
(A) 49 kg (B) 56 kg

(C) 58 kg (D) None of these

A reduction of 21% in the price of wheat enables a
person to buy 10.5 kg more for "100. What is the
reduced price per kg?
(A) 2

(C) '2.50

(B) '3
(D) *3.50

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

A% gq i BeEr 20 Sfaed SoT & S A SHE &A% (AT
g STRM?

(A) 40% (B) 44%
(C) 50% (D) 3 & Hi3 T&

3§ T & B 50 Uiaed ¥ § 50 geM 9 GRVM 50 AT
2, o e o ®7

(A) 150 (B) 400
(C) 200 (D) 300
90 RRIAieR &l 30 T H § T I 25 WX o #

ST FIA 31 288 e @ gl @ HW § T S
o e

(A) 70 ®reX (B) 78 X

(C) 80 X (D) =% | B &

W@ FdFe & @IT # 13,600 ¥ =N W 15 ARG B
BN B 81 AFE W 35 g # A il & @ [l

T [0 F¥q W ST AT AR a7
(A) 21,600 (B) 20,400
(C) 19,600 (D) 3T q g Wl

4 9§ ¥ 6000 H T 8000 & SN 31 Feew g9 ¥ I
W I 525 FH A 700 T AR?

(A) 5 T (B) 3 a§
©) 4 T (D) 378 T g T

AAG B AHR B T AW e o 2.3 F {9 W\
BEI% 600 FFHIE B A i TEE S HIA?

(A) 20 HieX (B) 30X

(©) 25 %X (D) & @ Hg &

TF AGGT e B AEE 20 Havd ger § I R T
 Fram wfoe Jorn S A S 9 @7

(A) 25 (B) 20

(€) 30 (D) 3 & Fi3 &

A 9 A T Y AFE 840 B IR TH MW 16 WG A
W § g H 12 Jawd @ O S o 8, @ A 7 7
%ﬁ%waﬁrqaﬁ%aﬁ@ﬁ%lﬁﬁaﬁaﬁwiwﬁw
(A) 360, ‘480 (B) 480, ‘360

(C) 380, ‘460 (D) 379 & #g T

29 Rl @1 of|d 9R 40 feaEm B R Rew @1 9R
i i e oiar & @ 999 WIR 300 AW % S R
s &1 9K T E?

(A) 49 frelm (B) 56 R

(C) 58 framm (D) & § Fig T

I @ HF T 21 wfwd @ FH AN W @ ARG 100 F
105 &l s @le @ 31 6E g8 e e
T 77

(A "2 (B) '3

(C) "2.50 (D) '3.50
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41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

If sweets are bought at 15 a *, how many must be sold
for a " to gain 25%?
(A) 10
©) 12

(B) 11
(D) 8

A quadrilateral with a pair of opposite sides parallel is
called:

(A) Parallelogram
(C) Polygon

(B) Trapezium
(D) None of these

How much time will it take for an amount of * 450 to
yield * 81 as interest at 4.5% per annum of simple
interest?

(A) 3.5years
(C) 5years

(B) 4.5 years
(D) 4 years

What least number which must be added to 1056, so
that the sum is completely divisible by 237

(A) 3 (B) 18
©) 2 (D) 21
Find the incorrect statement in respect of

parallelogram:

(A) Opposite sides are equal

(B) Opposite angles are equal

(C) Diagonals bhisect each other but need not be equal
(D) Sum of adjacent angles is 90°

Which is the largest fraction:
1
A 7 ® =
4 1
(D)

© >

70% of 70% of * 75000/- is:

(A) ' 37650
(B) 36750
(C) ' 37650
(D) None of these

The height of 5 boys is recorded as 146 cms, 154 cms,
164 cms, 148 cms and 158 cms. What is the average
height of all these boys?

(A) 152 cms
(B) 158 cms
(C) 156 cms
(D) 154 cms

What will be the compound interest accrued on a sum
of * 35,000/- at the rate of 8% Per annum in 2 years?
(A) ' 5884 (B) ' 5284

(C) '5524 (D) ' 5824

Ram bought a cycle and sold it for * 4550 which is 30%
more than the original price. What is the original price
of the cycle:
(A) " 3500/-
(C) " 3600/

(B) * 3800/-
(D) " 3400/-

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

R 1 H 15 PerE il o ¥ @ 25 sfawd as A

% R % o9 & R MowEd I SRA?

(A) 10 (B) 11

©) 12 (D) 8

F gy e e I e ¥, e g

(A) TR TGS (B) T

(C) =g (D) 39 & &3 Tl

' 450 P TH WH | 4.5% Jeay W HERYT & $ &
' 81 ARG B F T frae a9 @ STawEEa e

(A) 35 a9 (B) 4.5 4§

(C) 5 a9 (D) 4 a¥

1056 & TE@ B dem H-G MYl W e gEw an
23 & yofa: fermiforer & sme?
A) 3

© 2

TR IgYS & 99 7 O FO W P B

(A) Foda gomd seR Bt §

(B) FRod T TR B
(C)W@ig%aﬁﬁ%@am%%ﬁﬁwam

STETE TRl
(D) foreeaddt ®IoT %1 9T 90° BT &

Ty w21 R Pi-ar 27

1 3
A = ® =
4 1
7 O 27

(B) 18
(D) 21

©

* 75,000 & 70% H 70% &

(A) " 37650
(B) " 36750
(C) " 37650

(D) T & F5 T&

i @ed B Sur 146 ., 154 W, 164 AW., 148
. X 158 @i, ok H W = Tf TEH W Shew
AR 87
(A) 152 .
(B) 158 @M.
(C) 156 @
(D) 154 W

*35,000 W 8% S0 a¥ H W & 2 I H THIRE S Sl
AT @ F Em?

(A) ‘5884 (B) 5284

(C) ‘5524 (D) 5824

M ¥ & GEba @a8 & 4,550 § =1 o AR D
q 30% o ol GEfee 1 Ais P @ 97

(A) " 3500/- (B) 3800/
(C) " 3600/ (D) * 3400/

ubc-il (Dept.) [A-5]

visit this website studytosuccess.in



Join Telegram More Update Note: All previous year Exam paper provides

59 gRasl W g5 1 fieq 4
frff fesr eargds 9
1. | o9 IR RO oo & @ Ued STaA! e GRKR @ Fe-Hig e &Y d, 39 o 6 599 S9dh
qHl @ we 3P B iR s Bif ded oreen o Rt @ B F T Bl AR FRE TR & &R

%l
B A GHdE Bl YR P JAT G Se ol ST a7 § Q@ A9 q8 Eg¥ gHivEd w6
oo e feememer gRe el B

2. | o9 AW, TPEHIF HEl SR ST, (OMR) @& oM@ 7% W fa@l I ™ W id/#et
i@ Qe 3 | W IO U 9X ST AW g qer sEmeR Sk

3. |98 % IRWE e H qlen & e gdE 9 @ A9 Fw (A) § (D) 9% IR sEdfed W Rl
2l T faR & S off ST e B SE SR, WX o # fafed ST o I g g
T S

5. | SU-T WA @ G B B T 8 AR FFA YBR & M ol I ar 2@ 912

6. | IR UBEH IO T O GG B SR o1 39 Hie A1 F-a9 O @M STdar Sav i
F BE H T Y/ WA W IO U H FRE R S aear 8 @@ 3Ee g R
ot T ERT

7. | % wE QRaw § Rl f @l o § R S e Bl o S W8 FR & g @l e

8. |& Th U & MU ad T & I I HU T q AF IIW a4 W 97 F Pl3 3% T8 21
S I B A FET A SfE T A @ A g we o fae i (R w@ aideh) # B
= deper & Rl ot Riean 89 W geaieT & [T ool G @t et AT SR

9. |dcgucy, WIESEd, HERT, Sgact iedl A 3@ TER H Hs N e wd fEEr o oremme /e
I oNfY & JANT e et § antd B
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